Name

Date

Cross out the equations that are incorrect.

6+5+2=9+2+2

2+15+1=2+14+2

1+3+2=3+2+1

9+2+8=14+1+3

12+6+2=10+5+5

8+5+1=6+3+5

3+3+12=6+8+3

[+1+2=8+1+1

3+3+9=2+3+11

3+4+6=6+5+2

1+3+2=2+3+2

10+7+3=6+10+3

3+3+5=6+2+2

14+1+2=3+11+3

7+2+2=7+2+3

2+12+3=3+12+2

3+9+6=8+7+2

3+5+2=1+1+7

2+1+3=3+2+2

2+3+5=6+3+1
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Answer Key

Cross out the equations that are incorrect.

6+5+2=9+2+2 ITF3==2=2=+3F7

2+15+1=2+14+2 T E7=+=3=6—+10F3

1+3+2=3+2+1 IF3IF=S5=6+2T7

OF2==8=F4=+=1F3 14+1+2=3+11+3

12+6+2=10+5+5 [ F2==2=F+2F3

8+5+1=6+3+5 2+12+3=3+12+2

TFE3I+=IR=(=8FT 3  IFOEG=8=7F7

[+1+2=8+1+1 IFS=+=2=3=TF7

I F3+=G=2+=3F 11 ZFr=+=3F=3=+2F7

3+4+6=6+5+2 2+3+5=6+3+1
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Name Date

Cross out the equations that are incorrect.

3+6+3=2+4+7 8+2+2=4+6+2

2+3+15=3+7+9 /+10+3=1+18+1

2+6+7=4+2+9 3+4+6=6+6+1
4+1+2=3+3+2 13+4+2=14+1+5
3+2+5=5+4+2 1+1+14=1+2+13
2+2+2=1+1+4 A+42+2=1+5+1
1+4+1=1+1+3 3+3+4=2+6+3

10+1+3=3+6+4 2+4+1=4+2+1

8+5+6=8+2+9 8+4+5=4+5+8

5+5+1=3+4+5 1+7+5=3+3+8
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Answer Key

Cross out the equations that are incorrect.

IF6=+=3=2=+A4TF [

2+6+7=4+2+9

2+2+2=1+1+4

TF4=34=3=17F3

T Ft==3=3=+0F4

8+5+6=8+2+9

S F5==3=3=+=4F5

8+2+2=4+6+2

/+10+3=1+18+1

3+4+6=6+6+1

T3F=A=+=22=4=F1TT5

1+1+14=1+2+13

AF2==2=3F=+5F 1

IF3I+F=4=2+06F 3

2+4+1=4+2+1

8+4+5=4+5+8

T FF7==5=3=+=3F8

TheMathWorksheetSite.com



Name Date

Cross out the equations that are incorrect.

11+5+4=2+2+16 6+2+6=4+1+9

2+6+3=5+5+1 2+1+2=3+1+1

9+2+3=6+6+3 6+5+3=1+7+6

3+9+3=10+3+2 3+3+1=3+2+3

3+4+5=1+3+8 15+1+1=2+2+14
2+1+9=3+8+2 2+2+4=3+2+3
2+4+2=1+6+1 3+4+4=4+2+4
2+4+1=2+3+1 1+11+2=2+9+2

2+3+14=6+11+1 1+1+5=3+1+2

4+4+9=4+T7+5 4+7+1=6+2+4

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

11+5+4=2+2+16

2+6+3=5+5+1

9 F2=+=3=6=6+F3

3+9+3=10+3+2

3+4+5=1+3+8

ZF1=+=9=3+8F7

2+4+2=1+6+1

6+2+6=4+1+0

2+1+2=3+1+1

6+5+3=1+7+6

2+2+4=3+2+3

4+7+1=6+2+4
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Name

Date

Cross out the equations that are incorrect.

1+4+1=2+1+3

1+5+3=4+1+5

1+5+3=3+2+5

5+9+1=5+7+3

5+3+1=3+6+1

5+4+1=1+1+8

1+1+7=1+3+6

5+5+9=1+14+3

7+3+3=4+4+5

4+5+1=6+2+2

1+3+3=3+2+2

1+6+9=12+2+2

2+13+4=6+11+2

1+5+1=1+4+1

3+1+1=2+3+1

3+4+6=3+5+5

5+3+1=7+1+2

2+5+7=2+4+8

1+4+2=3+1+4

1+3+7=5+2+3
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Answer Key

Cross out the equations that are incorrect.

1+4+1=2+1+3 1+3+3=3+2+2

TF5=+=3=4=+1TT5H 1+6+9=12+2+2
TF5==3=3=2T5H 2+13+4=6+11+2
5+9+1=5+7+3 TF5=3%=

D F3=+=34=3=+=6F [ IFI==3F=2=+=3F 7T

5+4+1=1+1+38 3+4+6=3+5+5

TFi=+=—+=34=+3TF0 D F3=4=F=+1TT7

BE5+g=4=tAF3 2+5+7=2+4+8

7+3+3=4+4+5 TFA==2=3=+1+F71

4+5+1=6+2+2 1+ ==
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Name Date

Cross out the equations that are incorrect.

3+4+1=2+4+2 4+2+1=1+4+2

4+13+2=6+11+1 15+1+2=16+1+1

4+2+3=4+3+2 11+3+2=5+5+6
1+8+1=4+1+5 2+6+5=7+5+1
4+2+1=3+1+2 1+4+5=5+1+5
1+42+2=1+1+4 1+5+9=2+8+5
4+3+5=6+5+1 2+1+4=1+3+3
(+2+3=4+7+2 13+1+4=2+9+6
1+1+6=2+5+2 1+3+3=5+1+2

3+10+1=3+4+38 2+5+6=5+3+6

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

3+4+1=2+4+2 4+2+1=1+4+2

AFI3==2=6=311F1 15+1+2=16+1+1

4+2+3=4+3+2 11+3+2=5+5+6
1+8+1=4+1+5 2+6+5=7+5+1
ITF2=+3=3+1F7 TFa=+=5=5=+1F15
TF2=+=2=4<+1F1 1+5+9=2+8+5
4+3+5=6+5+1 2+1+4=1+3+3
[ F2=+=3=4=+7F7) I3 Ft=+=4=2=+9F05
TFEt+=6=2+5F7 TF3=+=3=5=+1F7

IFO+=+r=3=+4F8  ZF5=+=6=5+3F0
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Name Date

Cross out the equations that are incorrect.

2+2+1=1+2+3 9+5+2=3+9+3
6+1+4=8+2+2 2+6+1=1+1+7
2+7+1=5+2+2 3+1+5=6+2+1

10+2+5=14+2+1 5+3+5=2+10+2

3+44+7=2+3+9 1+1+4=2+1+3
2+3+2=14+4+2 1+2+4=1+2+5
4+2+2=1+6+2 9+2+4=2+1+12
5+1+4=6+2+2 A+4+7=3+9+3
(+1+3=3+7+2 4+1+12=5+8+5

1+4+3=7+1+1 /+5+1=2+11+1
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Answer Key

Cross out the equations that are incorrect.

ZF ===+ 2F3 9F5==2=3=+=9F3
CFt==4=8+2F7 2+6+1=1+1+7
== 3+1+5=6+2+1

10+2+5=14+2+1 D F3F=5=2=+10F7

3+4+7=2+3+9 1+1+4=2+1+3
2+3+2=1+4+2 THF2==4=3%=+2F5
A F2=+2=3=+06F7 9+2+4=2+1+12
S+1+4=6+2+2 4+4+7=3+9+3

=3=+=7F7 ¥ I=+=32=5=+8F5

TEA=3=F+1F1 TES+=4=PttF T
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Name Date

Cross out the equations that are incorrect.

1+12+1=1+7+6 1+6+1=6+1+1

T+4+4=T7+1+7 4+3+2=3+1+6

/[+6+7=3+1+15 5+8+7=17+1+2

3+1+1=1+1+3 3+8+2=1+1+11

1+1+15=1+13+4 8+4+4=11+2+3

5+1+5=8+2+2 2+1+4=3+2+3
5+2+1=3+3+1 1+5+1=5+2+1
2+2+5=2+4+2 3+1+10=4+3+7
1+2+2=2+1+3 4+11+4=1+7+10

6+2+5=5+1+7 4+1+7=3+2+7

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

1+12+1=1+7+6 1+6+1=6+1+1

T+4+4=T7+1+7 ZE3+2=3=17Th

[ Fo==F=3==3T=F 1H 5+8+7=17+1+2

3+1+1=1+1+3 3+8+2=1+1+11

TFi=35=4=+13F7 8+4+4=11+2+3

S Fit=a=5=8=+2F7 2ZEF1=+=4=3=+=2T 3
D F2=+=34+=3=+3F 1 TF5=+=3F=5=2F 71
2ZE2+=5=2=+AT 7 3+1+10=4+3+7
TF2=+=2=2=+1F3 I F1ti=+=4=3=7+F 10

6+2+5=5+1+7 4+1+7=3+2+7
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Name

Date

Cross out the equations that are incorrect.

5+9+5=1+4+14

5+1+13=10+4+6

1+6+1=1+5+2

5+2+2=1+6+3

2+2+3=1+4+3

4+3+13=4+6+10

2+6+2=7+1+2

1+1+8=4+1+5

10+3+3=11+4+1

4+2+13=7+3+9

8+1+8=3+4+9

2+5+1=3+4+2

9+1+10=13+4+2

3+1+1=2+1+1

/[+11+1=2+9+7

3+3+3=5+3+1

1+9+7=12+4+1

1+7+5=1+4+7

3+2+1=1+1+4

6+10+2=5+4+8

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

5+9+5=1+4+14

1+6+1=1+5+2

BE2=+2=d4sfT]

ZF2=3=3=+4TF 3

4+3+13=4+6+10

2+6+2=7+1+2

1+1+8=4+1+5

10+3+3=11+4+1

4+2+13=7+3+9

3+3+3=5+3+1

1+9+7=12+4+1

TF=F=+=5=34=347F [

3+2+1=1+1+4

O FI0=2=5=+47F§
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Name

Date

Cross out the equations that are incorrect.

11+2+3=3+12+1

1+1+7=2+2+5

5+6+5=6+4+6

5+1+1=1+3+2

4+8+3=4+7+4

2+2+3=1+2+4

3+1+6=5+4+2

1+2+13=5+5+7

2+9+3=6+4+3

15+1+1=1+3+13

3+3+2=4+1+3

2+1+2=1+2+2

4+9+2=4+3+8

1+2+5=4+1+4

2+2+9=8+5+1

1+6+8=9+2+4

2+1+6=1+2+5

5+4+11=9+3+7

2+2+2=2+1+14

4+1+1=3+3+1

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

11+2+3=3+12+1

1+1+7=2+2+5

5+6+5=6+4+6

B tt=43T7

4+8+3=4+7+4

2+2+3=1+2+4

15+1+1=1+3+13

3+3+2=4+1+3

2+1+2=1+2+2

4+9+2=4+3+8

TFE2+5=d1T7

ZF2=+=9=8=+5F 7

1+6+8=9+2+4
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Name Date

Cross out the equations that are incorrect.

6+10+1=1+11+5 2+2+5=3+5+2

2+6+1=3+3+3 2+2+1=2+3+1
1+7+1=4+4+2 8+5+6=2+1+16
1+3+9=5+5+2 3+14+2=15+2+2

5+3+/7=10+3+1 3+12+5=12+6+2

1+3+7=4+1+6 1+3+1=2+3+1
1+1+3=1+2+1 2+1+10=3+1+8
/[+1+3=2+1+8 2+1+5=3+3+1
5+5+4=8+4+2 4+5+2=5+1+6

4+6+2=2+3+7 2+11+7=6+6+38

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

6+10+1=1+11+5

2+6+1=3+3+3

1+3+7=4+1+6

TFt=+=3=34=2T 1

7+1+3=2+1+8

5+5+4=8+4+2

4+6+2=2+3+7

TEO L =3+ 5T

TE2 4 =23

8+5+6=2+1+16

3+14+2=15+2+2

3+12+5=12+6+2

2+11+7=6+6+38

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

1+8+11=4+9+6

1+8+6=1+9+4

2+2+2=4+1+1

(+9+2=17+1+1

S5+7+6=2+3+13

1+3+15=13+1+4

9+1+9=10+5+4

1+9+7=5+2+9

2+6+5=7+2+4

1+1+3=1+4+1

11+1+3=6+6+4

4+2+1=2+2+3

8+6+2=6+7+3

6+4+1=1+2+8

1+7+1=1+7+2

2+5+1=1+6+1

4+6+10=2+10+7

1+5+4=1+4+5

1+7+1=4+1+4

1+17+2=5+9+5

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

TFE8=+=3+=4=+97T06

TE8+6=4+97F2

2+2+2=4+1+1

7TEo+=2 =471+ T

S5+7+6=2+3+13

TE3=45=43+1754

9+1+9=10+5+4

ITF9=+=—F=5=+2F7

2+6+5=7+2+4

ITFi==3=3=4=F1

IT==i==3=6=067F1

4+2+1=2+2+3

8+6+2=6+7+3

6+4+1=1+2+8

2+5+1=1+6+1

I Fo=+=30=2=+10F [

1+5+4=1+4+5

1+7+1=4+1+4

ITFI7==2=5=+9F5H
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Name

Date

Cross out the equations that are incorrect.

3+4+1=2+1+6

5+2+5=2+9+1

3+14+1=14+3+2

3+10+7=12+1+7

3+2+1=1+1+4

1+6+11=11+6+1

1+3+3=2+3+3

1+4+2=1+4+3

5+3+4=4+2+5

8+6+1=2+12+1

3+1+6=6+2+2

3+6+1=1+6+4

1+1+5=2+2+3

S+2+12=1+11+7

6+3+10=3+9+8

5+8+5=11+4+4

2+2+11=3+12+1

6+8+2=5+9+2

1+4+10=6+5+4

8+5+6=3+12+5

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

I FAd=+=3=2=+17T06

5+2+5=2+9+1

I = WEE VST, o )

3+10+7=12+1+7

3+2+1=1+1+4

1+6+11=11+6+1

8+6+1=2+12+1

3+1+6=6+2+2

TFEB+t=ttBT

1+1+5=2+2+3

S+2+12=1+11+7

6+8+2=5+9+2

1+4+10=6+5+4

8F5=+=6=3=+12F5
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Name

Date

Cross out the equations that are incorrect.

11+6+3=12+7+1

5+2+12=9+9+1

8+4+1=5+2+7

8+1+4=4+7+2

12+3+5=8+4+7

4+4+12=3+1+16

5+1+7=2+6+5

A+5+5=4+2+9

2+12+4=3+10+6

1+6+2=2+7+1

3+1+3=4+3+1

1+3+2=2+2+3

6+3+10=12+3+4

1+1+5=3+2+2

3+7+1=5+4+2

[+6+3=12+1+2

2+1+2=1+1+14

6+7+7=1+3+16

1+5+3=2+6+1

1+1+3=4+1+1

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

11+6+3=12+7+1

5+2+12=9+9+1

BfA+t=5r2T7

8+1+4=4+7+2

T2 FE3+=5=84F7

4+4+12=3+1+16

5+1+7=2+6+5

- o T —t,

6+3+10=12+3+4

1+1+5=3+2+2

3+7+1=5+4+2

2 =10t T

ZFt=2=34=+1F7

6+7+7=1+3+16

1+5+3=2+6+1

ITFi==3=4=1TF1
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Name

Date

Cross out the equations that are incorrect.

1+2+6=6+1+1

9+1+9=1+9+8

5+7+5=4+5+7

1+4+5=1+7+2

12+7+1=9+5+5

1+1+9=2+1+9

4+2+4=6+3+2

8+/7+3=3+12+3

4+2+4=3+3+5

4+3+2=1+3+5

3+1+5=3+2+4

1+1+5=2+4+1

11+6+1=7+7+4

10+2+8=2+5+13

5+5+10=1+12+7

4+6+2=4+5+3

1+6+2=6+2+2

4+4+4=5+3+4

4+1+1=3+1+1

4+13+2=1+13+6
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Answer Key

Cross out the equations that are incorrect.

TF2=+=6=6=+1F1 3+1+5=3+2+4
9Ft+=+=9=3=+9+F3 1+1+5=2+4+1
¥ 7=+=5=4+5F [ 11+6+1=7+7+4
1+4+5=1+7+2 10+2+8=2+5+13

12F7==3+=8=57F5 5+5+10=1+12+7

TEt=+=9=2+1F7 4+6+2=4+5+3

I F2=+A4=6=+3F 7 TF6=+F=2=6=+2F7

8+/7/+3=3+12+3 4+4+4=5+3+4

A F2=+=4=3=+3F 5 A Fi==F=3=+=1TF1

4+3+2=1+3+5 I E13+2=4=+137h

TheMathWorksheetSite.com



Name Date

Cross out the equations that are incorrect.

4+5+6=1+6+7 1+2+10=3+1+9

1+4+3=6+1+1 9+6+1=3+6+7

4+1+11=7+5+4  7+1+3=4+3+4

12+4+1=2+5+10 2+1+3=2+4+1

[+1+3=1+6+3 4+8+4=2+13+2
2+9+4=2+7+5 4+2+10=1+10+4
5+1+7=6+1+6 3+1+1=3+1+2
5+1+2=1+2+5 6+3+5=7+2+5

2+3+10=3+7+5 6+5+3=4+10+1

[ +3+4=9+1+3 1+6+10=5+5+6
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Answer Key

Cross out the equations that are incorrect.

I F¥F5+=6=34=+67F 1+2+10=3+1+9

1+4+3=6+1+1 9+6+1=3+6+7

4+1+11=7+5+4  7+1+3=4+3+4

12+4+1=2+5+10 ZFI==3=2=+4F1

[ F1=+=3=3=6F 3 I F8+A=24+=13F 7
=2 5) I F2=+=35=34==30F 4

5+1+7=6+1+6 IFt=4+=3=+31TT 7

5+1+2=1+2+5 6+3+5=7+2+5

2+3+10=3+7+5 O F5=+F3=4=+=30F 1

[F3=+=4=9=+1TF3 TF6=+=3=5+57F0
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Name

Date

Cross out the equations that are incorrect.

5+1+7=9+1+3

2+11+6=9+3+7

9+3+5=6+5+7

6+8+2=4+3+9

1+3+2=2+2+2

1+6+5=4+1+7

4+9+4=9+5+3

1+1+4=4+1+2

3+1+3=1+3+3

4+1+15=2+1+17

1+2+6=5+4+1

1+3+4=4+2+3

4+9+4=8+9+1

4+2+1=1+1+5

9+2+4=6+3+5

4+10+4=5+7+6

2+2+6=3+7+1

3+1+3=1+2+5

5+3+1=3+2+5

2+4+2=1+1+7

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

54+1+7=9+1+3 TF2=6=55=4T1
2+11+6=9+3+7 TF3=+=4=4=+2TF3
SF3==5=6+5T ( I FO=+=A4=8=+9T T

6+8+2=4+3+9

1+3+2=2+2+2

1+6+5=4+1+7

4+9+4=9+5+3

ITFi=+=4=4==1TF7

3+1+3=1+3+3

4+1+15=2+1+17

4+2+1=1+1+5

9F2=+=4=6+3F 5

4+10+4=5+7+6

= J T T —
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Name Date

Cross out the equations that are incorrect.

5+3+2=4+3+3 6+3+3=8+2+3

6+8+6=4+1+14 3+13+3=6+11+2

3+3+8=4+8+2 3+8+7=11+2+6
3+3+1=4+2+2 2+5+2=5+1+3
(+4+4=90+2+3 2+5+8=3+3+9
3+1+1=1+2+2 5+4+42=3+42+5
1+3+5=2+7+1 1+2+3=4+1+2
1+3+4=6+1+1 2+4+11=8+8+1
1+3+2=2+2+2 1+2+13=6+8+1

3+1+1=1+2+2 9+4+5=2+7+8
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Answer Key

Cross out the equations that are incorrect.

5+3+2=4+3+3

O F8==6=4==1+F14

3+3+8=4+8+2

IFES+t=atoT7

[ FA=+=4=9=+2TF 3

3+1+1=1+2+2

TF3==5=2=+7F1

1+3+4=6+1+1

1+3+2=2+2+2

3+1+1=1+2+2

FEE3=+3=8+27F3

3+13+3=6+11+2

IF8FF=4+=+2T06

2+5+2=5+1+3

2+5+8=3+3+9

SFA==3=+2F5

TF2==3=4=+1TT7

2+4+11=8+8+1
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Name

Date

Cross out the equations that are incorrect.

13+2+3=12+2+14

4+14+1=4+4+11

5+4+9=7+6+6

1+1+3=2+2+1

5+10+3=5+2+11

A+T7+T7=T+4+7

6+12+1=4+4+12

1+2+2=3+2+1

2+1+4=3+1+4

5+2+7=7+2+5

2+5+3=2+8+1

9+8+2=1+11+7

6+1+1=1+3+4

2+2+1=1+2+3

12+3+3=1+2+14

1+5+2=1+1+7

1+2+6=4+4+1

1+1+4=2+2+2

2+5+11=3+15+1

8+2+3=9+3+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

13+2+3=12+2+14

4+14+1=4+4+11

S FA==8=+=+6F0

1+1+3=2+2+1

5+10+3=5+2+11

A+T7+T7=T+4+7

5+2+7=7+2+5

ZE5=+=3=22+8F T

9+8+2=1+11+7

6+1+1=1+3+4

TEt=ttoT3

17 F3==3=3=2F 14

1+2+6=4+4+1

1+1+4=2+2+2
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Name

Date

Cross out the equations that are incorrect.

2+3+4=4+2+4

2+12+3=4+6+7

7+1+1=2+4+3

6+4+5=6+8+1

1+2+3=3+2+2

1+16+3=7+8+5

4+5+2=5+1+5

3+1+2=1+4+1

1+42+3=2+4+1

4+8+5=1+5+12

2+12+1=1+13+1

14+3+3=8+7+5

2+8+6=10+3+2

44+42+5=6+2+4

3+4+2=4+4+1

1+4+3=3+2+3

1+1+7=1+1+38

2+2+9=4+1+7

2+9+4=1+8+7

2+6+8=1+2+14
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Answer Key

Cross out the equations that are incorrect.

2 E3+=4=4=+2T 7

2+12+3=4+6+7

7+1+1=2+4+3

6+4+5=6+8+1

TF2==3=3+F2F7

1+16+3=7+8+5

4+5+2=5+1+5

3+1+2=1+4+1

TF2==3=2=4F1

4 F8=+=5=F=+35F 17

2+12+1=1+13+1

14+3+3=8+7+5

ZF8+F=6=340=+3F 7

ITF2+5=Gt2T7

3+4+2=4+4+1

1+4+3=3+2+3

ZFo==6=3F=+2F17
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Name

Date

Cross out the equations that are incorrect.

5+3+4=5+4+4

3+1+1=2+2+1

4+1+12=13+1+2

1+8+3=3+5+5

5+6+1=1+6+5

8+6+4=5+5+8

1+1+9=2+8+1

2+5+3=5+1+4

3+3+2=3+2+4

4+1+4=1+8+1

9+5+5=1+6+12

6+5+4=8+2+6

7+4+3=4+6+3

3+5+4=4+5+2

6+2+4=3+1+8

1+1+3=1+1+2

3+2+6=1+8+2

9+5+3=7+5+5

2+1+3=1+3+3

3+10+7=13+1+6
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Answer Key

Cross out the equations that are incorrect.

S F3==4=5=+4F1

3+1+1=2+2+1

5+6+1=1+6+5

8+6+4=5+5+8

1+1+9=2+8+1

2+5+3=5+1+4

IFE3I+2=3+2T7

A Fi=+=4=3==8F1

9+5+5=1+6+12

6+2+4=3+1+8

ITFi==3=3==1TF7

3+2+6=1+8+2

9+5+3=7+5+5

ZF1=+=3=4=+3F 3

3+10+7=13+1+6
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Name

Date

Cross out the equations that are incorrect.

5+3+1=1+5+3

3+1+9=1+11+2

4+3+1=1+3+5

2+9+5=13+2+1

4+3+4=5+3+3

1+6+1=2+3+3

3+2+2=3+1+3

6+8+1=1+13+1

2+1+2=1+1+4

4+8+1=2+3+9

5+5+6=6+4+5

6+8+2=1+4+11

1+4+7=3+6+2

5+5+4=1+10+4

7+1+7=3+5+6

1+4+5=2+5+4

3+8+2=5+2+6

2+5+1=5+1+1

2+3+3=1+6+1

1+2+2=2+2+1
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Answer Key

Cross out the equations that are incorrect.

5+3+1=1+5+3

TET+=9=4=itT7

A ¥F3==3F=4=3F5

2+9+5=13+2+1

4+3+4=5+3+3

1+6+1=2+3+3

3+2+2=3+1+3

6+8+1=1+13+1

ZEFt==22=4=177

2 F8=+=F=2=+3FJ

S FS5=6=6=4T5H

6+8+2=1+4+11

3+8+2=5+2+6

ZF5=+=F=5=1TF1

2+3+3=1+6+1

1+2+2=2+2+1
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Name

Date

Cross out the equations that are incorrect.

1+2+9=2+1+10

3+1+10=5+1+38

2+4+1=3+2+2

1+6+5=1+8+3

(+1+4=1+2+10

11+2+1=1+2+10

8+2+2=7+2+3

1+3+1=3+1+1

10+3+1=3+5+7

4+1+11=9+2+5

5+5+10=5+6+9

2+8+2=9+2+2

3+7+4=4+7+3

2+1+4=3+3+2

5+4+4=2+0+3

3+3+1=2+1+5

1+3+1=1+2+3

6+4+3=6+1+6

1+7+1=1+2+6

4+7+3=5+3+5
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Answer Key

Cross out the equations that are incorrect.

T F2==59=2=+1F10 5+5+10=5+6+9

3+1+10=5+1+38 ZEF8F=2=9=+F2F7

2+4+1=3+2+2 3+7+4=4+7+3
1+6+5=1+8+3 =33 T 7

=== 2 D FA=+=4=2+09F 3
TTF2==34=3=2F 10 IF3I+=F=2+1TF0H
8+2+2=7+2+3 TF3=34+=34=+2T 3
1+3+1=3+1+1 6+4+3=6+1+6

I0F3=+=3+=3=+=5F [ 1+7+1=1+2+6

4+1+11=9+2+5 AF7==3=5=+3FhH
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Name Date

Cross out the equations that are incorrect.

1+1+3=1+3+1 2+3+3=3+3+1
1+9+7=6+5+5 1+3+2=3+2+1
8+2+4=8+6+1 6+3+2=5+2+14

3+5+12=3+14+3 4+2+6=2+2+9

4+3+2=3+5+1 1+4+12=10+4+3
5+5+3=5+4+3 5+1+2=3+2+3
5+3+1=2+2+4 4+8+1=3+2+9

1+3+11=6+1+8 6+3+1=4+2+4

4+1+6=3+1+8 11+6+2=11+5+3

1+3+11=7+5+4 13+2+2=3+11+2
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Answer Key

Cross out the equations that are incorrect.

1+1+3=1+3+1 2ZF3IF=3F=3=+3F 1
TFe=+=F=6=+5TF5 1+3+2=3+2+1
SF2=+=4=8=+6T 1 6+3+2=5+2+4

3+5+12=3+14+3 AF2==6=2+2F9

4+3+2=3+5+1 1+4+12=10+4+3
S FEFS5=+=3=5=4TF3 5+1+2=3+2+3
D F3=3+=2=+2TF 7 I F8=+=4+=3=+2T9

1+3+11=6+1+8 6+3+1=4+2+4

I Ft=6=3=+=17T83 11+6+2=11+5+3

ITF3==3==+=5F17 13 F2=2=3=11F7
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Name

Date

Cross out the equations that are incorrect.

8+5+6=6+3+9

3+3+9=2+11+1

2+2+1=3+1+1

4+3+9=11+4+1

8+1+8=6+8+2

10+4+1=4+6+5

2+3+3=6+1+1

1+1+3=4+1+1

2+5+2=1+6+2

3+7+8=7+5+6

+1+2=5+1+3

7+4+2=2+7+4

1+3+1=2+2+1

1+7+3=5+1+4

1+9+2=4+2+6

1+10+/7=8+8+1

2+1+2=3+2+1

1+1+8=3+5+1

12+4+3=5+3+11

1+6+13=9+3+7
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Answer Key

Cross out the equations that are incorrect.

S ES=+=6=6+3T9

TE3+G=2 et FT

2+2+1=3+1+1

4+3+9=11+4+1

S Ft=+=8=6+8T7

10+4+1=4+6+5

2+3+3=6+1+1

ITFi==3=4==1TF1

2+5+2=1+6+2

3+7+8=7+5+6

[ Fir=2=5=+17F3

7+4+2=2+7+4

1+3+1=2+2+1

TF7==3=5=+=1F1

1+9+2=4+2+6

12+4+3=5+3+11

[ F 6 =+=3F3=9=+3FF /
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Name

Date

Cross out the equations that are incorrect.

2+1+5=3+1+5

7+3+9=3+7+9

14+4+2=1+15+3

[+3+3=8+3+2

2+1+5=2+5+1

A+1+1=1+2+2

3+2+9=4+8+2

2+2+3=3+2+2

1+4+1=5+1+1

12+1+3=3+5+9

2+8+1=1+8+2

3+3+2=4+1+3

6+1+1=3+2+3

4+1+2=1+2+3

2+1+5=5+3+1

4+1+3=2+6+1

2+2+1=1+4+1

6+5+1=1+9+1

6+8+4=7+8+3

S+3+2=1+1+7
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Answer Key

Cross out the equations that are incorrect.

ZFt=#=5=3=1F5

7+3+9=3+7+9

T2 A=+=2=24=35F 3

[+3+3=8+3+2

2+1+5=2+5+1

I Ftt=dtoT7

3+2+9=4+8+2

2+2+3=3+2+2

2+8+1=1+8+2

3+3+2=4+1+3

6+1+1=3+2+3

6+8+4=7+8+3

SF3==2=3=TF7
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Name

Date

Cross out the equations that are incorrect.

6+1+8=5+2+7

4+2+3=5+2+2

10+1+6=13+1+3

5+4+11=8+7+4

1+3+1=1+1+3

1+6+2=5+1+4

5+1+3=4+3+3

4+3+13=1+1+17

2+4+10=7+7+2

8+8+4=15+2+2

2+4+1=4+1+2

1+7+3=4+1+5

1+4+1=1+1+5

5+6+8=6+1+12

2+2+1=3+1+1

3+1+3=5+1+2

3+1+1=1+1+2

8+7+2=4+10+3

5+8+5=14+2+3

11+3+2=2+2+12
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Answer Key

Cross out the equations that are incorrect.

B FI=+=8=5+F2F7 2+4+1=4+1+2

4+2+3=5+2+2 TF7==3=4=+=1F0hH

10+1+6=13+1+3 TF¥4=34=34=+31TT5H

SFA==IF=8=+7F7 5+6+8=6+1+12

1+3+1=1+1+3 2+2+1=3+1+1
TF6=+=2=5+17F4 IFIt=+=3=55=+1TF7
S F1==3=4=3T 3 IFti=4+=34=1TT 7

A F3=33F=F==1TF 17 8+7+2=4+10+3

2+4+10=7+7+2 BF8+=5=44+2F3

SF8=+=H=35=+2F7 11+3+2=2+2+12
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Name Date

Cross out the equations that are incorrect.

6+3+4=4+2+8 (+5+3=3+4+8

2+2+8=6+1+4 8+3+4=3+7+5

5+10+4=1+7+11 3+2+14=2+4+13

7+4+1=2+7+2 2+3+7=6+2+3
2+3+1=4+1+1 5+8+5=2+14+2
2+8+4=7+5+3 8+8+1=7+3+7
1+3+4=5+1+1 13+1+5=1+14+5

2+6+8=1+1+14 1+4+2=4+2+1

8+5+2=2+6+6 1+10+4=1+11+2

4+2+5=3+1+7 2+15+1=1+3+13
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Answer Key

Cross out the equations that are incorrect.

B F3=+=4=4=+2T18§

T E2=G=tT

5+10+4=1+7+11

2+3+1=4+1+1

ZEF8+=4=F=+3F3

ITF3==4=5=+=1TF1

2+6+8=1+1+14

SEF5=+=2=2+6T06

4+2+5=3+1+7

7+5+3=3+4+8

8+3+4=3+7+5

3+2+14=2+4+13

5+8+5=2+14+2

8+8+1=7+3+7

I3 Ft=+=5=34=+14F5

1+4+2=4+2+1

TE10=d=tduettF 7

ZF15==3=3+=3F 13
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Name

Date

Cross out the equations that are incorrect.

4+1+1=1+1+4

5+2+9=12+2+3

7+4+8=1+16+2

2+3+3=3+2+4

2+5+1=1+3+4

6+7+4=T7+7+2

5+6+3=1+3+10

12+2+4=5+6+8

4+3+3=2+1+7

2+4+9=7+8+1

3+1+3=2+2+4

2+1+7=3+1+6

5+3+2=2+7+1

4+3+8=11+2+1

4+3+9=8+6+2

7+2+5=4+8+3

1+5+3=1+3+5

1+5+1=2+1+4

6+1+7=4+7+4

6+2+3=1+6+5
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Answer Key

Cross out the equations that are incorrect.

4+1+1=1+1+4

B E2+g=142+2F3

7+4+8=1+16+2

ZEF3F=3F=3=+2F71

2+5+1=1+3+4

5+6+3=1+3+10

127 F2=+4=5=+67F18

4+3+3=2+1+7

IFIt=+=3=2=+2771

2+1+7=3+1+6

5+3+2=2+7+1

4+3+9=8+6+2

[F2==5=4=+8F3

1+5+3=1+3+5

1+5+1=2+1+4

S t==F=d4=7 14

G F2=3=3=6T5
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Name

Date

Cross out the equations that are incorrect.

3+1+10=2+6+6

[+5+6=6+6+5

5+1+3=1+1+8

3+2+1=2+2+2

1+9+2=1+1+11

4+2+1=2+3+2

1+1+3=4+1+1

1+3+7=4+1+5

2+1+5=3+1+4

2+5+2=3+2+3

2+7+5=4+4+5

1+7+1=1+2+7

2+2+4=2+5+1

8+4+7=4+8+7

3+1+13=13+2+2

6+/7+1=1+11+2

5+5+4=7+6+2

2+8+5=6+3+6

2+2+1=1+2+3

1+1+/7=7+1+1
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Answer Key

Cross out the equations that are incorrect.

3+1+10=2+6+6

[F5=+=6=6=+06FH

S Ft=+=3=4=1+18

3+2+1=2+2+2

TFOS=+=2=34=+3F 17T

4+2+1=2+3+2

TF3==3=4==1TT 1

ZET7T=+=5=4=+4T5

2+2+4=2+5+1

8+4+7=4+8+7

3+1+13=13+2+2

6+/7+1=1+11+2

D FS5=4=++06F 7

2+8+5=6+3+6

ZEF2=+=3=4=+27F3

1+1+/7=7+1+1
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Name

Date

Cross out the equations that are incorrect.

4+9+4=5+1+11

3+11+1=5+1+38

4+1+1=4+1+2

3+4+6=8+4+2

4+2+2=2+6+1

2+1+3=1+2+3

13+3+2=5+8+6

2+4+7=2+9+2

5+2+4=2+7+3

2+8+4=1+4+9

4+5+2=5+2+4

1+7+10=11+1+6

2+5+1=7+1+1

1+7+3=2+1+38

2+3+15=1+14+14

3+1+4=1+2+6

1+2+3=3+2+1

1+2+6=6+2+1

3+1+2=2+1+3

2+9+1=2+7+2
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Answer Key

Cross out the equations that are incorrect.

4+9+4=5+1+11

2+1+3=1+2+3

I3 F3=+=2=5=8F06

2+4+7=2+9+2

2+8+4=1+4+9

4+5+2=5+2+4

1+7+10=11+1+6

ZES=+==F=+=1TTF1

1+7+3=2+1+38

ZF3I=35=3=14F ]

IFIT=+=4=3==2F0

1+2+3=3+2+1

1+2+6=6+2+1

3+1+2=2+1+3

- . T b,
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Name Date

Cross out the equations that are incorrect.

9+2+9=10+2+7 2+1+3=3+2+2

1+5+3=2+1+5 2+5+8=5+4+6
4+2+6=1+2+9 4+1+1=1+2+3
2+4+1=4+2+2 10+5+3=1+2+15

5+2+5=10+1+1 1+8+10=4+11+3

2+8+2=06+2+4 11+4+2=2+1+14
4+6+1=3+3+6 1+9+8=9+4+6
/[+1+3=3+3+6 (+1+2=4+1+5

5+8+4=3+11+3 4+5+1=4+4+2

([+5+2=06+5+4 3+3+5=7+2+3
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Answer Key

Cross out the equations that are incorrect.

g9+ g=40+9T7

TF5==3=2=+1F0hH

4+2+6=1+2+9

i = SRS, - )

5+2+5=10+1+1

2+8+2=6+2+4

I F6=+=3F+=3+3T0

[(FI=+=3=3=+=3F 06

5+8+4=3+11+3

TEt+3=3+2F7

2+5+8=5+4+6

4+1+1=1+2+3

10+5+3=1+2+15

TF8=35=4=+31T 3

11+4+2=2+1+14

TF9==8=9=+47F0

7+1+2=4+1+5

4+5+1=4+4+2

IFE3I=F=5=F=+F2F3
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Name Date

Cross out the equations that are incorrect.

4+3+13=2+16+1 5+2+2=1+4+3

2+3+1=1+1+4 2+1+4=2+3+2

3+1+1=2+1+3 16+2+1=12+5+1

2+1+14=6+9+1 /[+1+4=6+1+5

9+2+9=10+8+1 6+8+3=7+4+5

/[+5+1=5+2+06 2+/7/+9=6+6+6

5+6+1=7+1+4 2+4+1=5+1+1

3+3+11=9+4+4 2+3+8=1+9+2

3+12+4=10+1+9 8+6+5=6+13+1

(+1+12=3+2+15 1+4+1=3+1+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

T FE343=24 16T

2+3+1=1+1+4

7+5+1=5+2+6

5+6+1=7+1+4

3+3+11=9+4+4

TEI2+4=46+17F7

(+1+12=3+2+15

S F2==22=4=47F3

2+1+4=2+3+2

T6oF2==F=42=+5F 1

7+1+4=6+1+5

O F8=+=3=+=+4FH

2+/7/+9=6+6+6

2+4+1=5+1+1

1+4+1=3+1+2

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

3+2+3=5+1+2

5+3+1=2+3+4

3+9+1=6+2+5

5S+1+6=1+6+4

11+2+7=5+1+14

2+2+1=3+1+1

1+2+2=2+1+3

2+1+11=4+5+6

8+1+1=1+2+7

2+9+7=1+11+5

9+2+1=3+1+9

1+1+3=1+2+2

1+1+3=4+1+1

10+5+1=1+3+13

5+2+1=3+5+1

1+4+3=1+2+5

9+7+4=11+3+5

5+4+1=4+2+4

3+2+3=1+2+6

5+3+9=15+1+1

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

3+2+3=5+1+2

5+3+1=2+3+4

3+9+1=6+2+5

11+2+7=5+1+14

2+2+1=3+1+1

TF2=+=2=2=+1F3

ZFI===3F+=4=57F0

8+1+1=1+2+7

ZFO==—F=3F=11F5

9F2=+=3%=3=1F9

1+1+3=1+2+2

SF2=+=3F=3==5T 1

1+4+3=1+2+5

5+4+1=4+2+4

I F2=+=3F=F=+2T06

5+3+9=15+1+1

TheMathWorksheetSite.com



Name Date

Cross out the equations that are incorrect.

1+10+2=8+3+3 15+4+1=1+6+12

4+3+8=7+4+3 ([ +3+2=2+8+2

6+2+7=5+7+3 6+6+6=8+9+1

11+5+1=5+11+1 2+2+12=4+10+1

1+11+4=9+2+4 2+2+7=2+7+1

2+4+7=2+11+1 2+1+3=2+2+3

5+8+1=3+5+6 2+5+6=3+4+6

1+5+7=7+3+4 5+1+3=2+4+3

5+9+4=15+1+3 3+1+3=4+1+2

3+3+5=9+1+1 11+3+3=9+3+4

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

A F3==G=—F=+4F3 ([ +3+2=2+8+2
6+2+7=5+7+3 6+6+6=8+9+1

11+5+1=5+11+1 ZF2=32=4==10F 1

ITFI==4=9=2F4  ZF2==F=2=7F1

5+8+1=3+5+6 2+5+6=3+4+6

T F5=——= 5+1+3=2+4+3

D Od= 451 ¥ 3 3+1+3=4+1+2

3+3+5=9+1+1 TTF3=+=3=9+3T7

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

4+10+4=7+5+5

2+5+2=6+1+2

6+3+5=6+1+7

2+4+3=1+2+5

3+/7+3=1+7+5

8+2+1=1+9+1

4+3+7=4+1+10

3+2+2=4+1+3

(+3+2=2+1+9

1+2+9=5+4+2

1+8+3=5+1+7

2+3+1=1+1+5

6+1+2=1+6+1

2+2+4=3+2+2

8+1+1=3+5+3

4+7+3=8+3+2

6+8+5=8+7+4

3+9+5=3+4+10

2+4+1=1+5+1

1+2+2=1+1+3

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

I Fi10=+=4=F+5TH TEF8=+=3=5=+1F7
2+5+2=6+1+2 ZE3+=F=4=+1F5
6+3+5=6+1+7 O F1=+=2=34=6F 1
2 ¥ A4=+=3=4=+2FH 2 E2+=4=3+2F7
3+7+3=1+7+5 SFi==3t=3=5+F3
8+2+1=1+9+1 T F7=+=3=8=+3F )

4 F3+=F=4=3TF 10 6+8+5=8+7+4

XE2+p=dsTF3 3+9+5=3+4+10

(+3+2=2+1+9

TF2=+=9=5=+4F7

2+4+1=1+5+1

1+2+2=1+1+3

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

6+1+1=3+4+1

2+2+4=2+2+3

4+1+1=2+1+4

8+2+3=7+1+4

7+1+3=4+6+1

3+3+2=5+2+1

1+5+2=1+1+7

1+5+4=4+2+3

5+2+5=4+7+1

4+13+3=4+6+10

2+2+9=1+8+14

2+1+14=2+6+9

5+5+2=5+2+5

S+2+2=1+1+7

2+5+1=2+5+2

2+9+6=6+5+5

18+1+1=1+7+11

2+4+12=6+4+38

6+1+12=6+4+10

5+4+1=3+1+5

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

6+1+1=3+4+1 2+2+9=1+8+4
TE2 A4 =R2F 3 2+1+14=2+6+9
IEt+et=2=stT2 5+5+2=5+2+5
BE2+3=F+1F2 5+2+2=1+1+7
7+1+3=4+6+1 TES =2 5T
3+3+2=5+2+1 7 FO9+=6=6=+5TFhH
ITF5==2=F=+=1TF 7 I8 Ft===3=+=7F 11
T F5=+=4=4=+2F3 2+4+12=6+4+8
5+2+5=4+7+1 o F I==32=6=+4F 10

4+13+3=4+6+10 D ¥ A4=+=34=3+%TFhH

TheMathWorksheetSite.com



Name Date

Cross out the equations that are incorrect.

2+2+3=2+1+3 4+2+12=6+5+7
2+1+4=5+1+2 3+3+6=1+5+6
3+1+2=1+4+2 4+1+4=2+3+3

1+15+2=6+11+1 4+2+8=2+2+11

2+1+2=1+3+1 8+9+3=6+12+1

6+4+4=1+10+3 7+3+4=T7+4+4

2+3+3=1+1+5 2+11+5=1+13+4
1+1+3=1+2+1 2+1+4=4+2+1
1+2+2=2+1+2 4+3+11=5+5+38

4+2+6=6+4+3 3+2+10=7+3+6

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

ZFE2=3=2=+17F3 4+2+12=6+5+7
2Et=A=5+1F7 3+3+6=1+5+6
IFI=+=2=3=+4F7 I Fi==4=2=3F 3

1+15+2=6+11+1 A F2==8=2=+2F 11

2+1+2=1+3+1 BFo+=3=6=127F1

6+4+4=1+10+3 T FE3+d=F+AT1

ZF3=+=3F=34+=+=3TT5H 2+11+5=1+13+4
TFi=+=3=34=2F 71 2+1+4=4+2+1
1+2+2=2+1+2 4+3+11=5+5+8

I F2==6==6=+4T3 I F2=3=F=+=3 T 06

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

6+4+1=2+9+1

7+3+3=2+7+4

A+1+4=1+4+3

2+6+5=6+2+5

10+5+1=11+4+2

10+4+4=2+15+2

6+3+3=7+5+1

2+2+15=11+6+2

3+1+4=3+2+3

[+1+9=2+13+3

2+4+1=6+1+1

2+2+3=1+4+3

7+3+7=11+4+2

3+1+2=3+2+2

3+9+5=7+5+5

7+7+2=2+11+2

5+8+2=3+7+5

A+6+1=7+1+3

1+6+12=17+1+2

3+2+4=1+6+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

EFA=+=4=2=0T 1

7+3+3=2+7+4

I t==4=34=47F 3

2+6+5=6+2+5

2+2+15=11+6+2

3+1+4=3+2+3

[FIT==8=2=+13F 3

TE At =TT T

T Eg=taAT]

7+3+7=11+4+2

IFt=+=2=3=+F2F7

3+9+5=7+5+5

[ ¥ I =+=2=

5+8+2=3+7+5

A+6+1=7+1+3

TE6 2 =471 7

3+2+4=1+6+2

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

1+3+4=2+6+1

9+5+3=5+1+11

3+2+9=2+4+8

3+1+1=1+1+2

4+3+3=1+7+1

2+10+6=9+8+2

5S+/7/+1=9+3+1

9+2+4=3+7+5

9+5+3=1+11+4

8+6+4=8+6+3

2+4+5=3+3+14

2+1+6=1+2+7

13+1+6=4+8+7

5+1+1=3+1+3

8+1+9=9+5+5

8+5+2=10+3+2

2+11+1=7+3+4

1+8+4=2+8+2

1+8+5=5+5+4

2+1+2=2+2+1

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

TEF3==4=2=+6F 1

9+5+3=5+1+11

3+2+9=2+4+8

5S+/7/+1=9+3+1

9+2+4=3+7+5

S F5=+=3=4==31 77

gF6=+=4=8=+06F3

5+1+1=3+1+3

TFi=9=8=+5F5

8+5+2=10+3+2

2+11+1=7+3+4

TF8=+=4=2=+8F7

1+8+5=5+5+4

2+1+2=2+2+1

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

3+1+11=9+3+3

14+1+1=6+9+1

3+4+9=13+1+2

1+3+6=2+5+3

2+2+4=3+2+3

2+8+1=1+10+1

11+2+3=2+11+2

9+2+2=4+5+4

3+4+8=8+3+3

8+4+3=12+2+1

2+2+3=1+1+5

5+10+3=2+9+38

3+1+1=2+2+1

10+1+4=4+3+8

11+2+6=8+4+8

3+1+5=2+1+5

7+3+7=6+5+5

1+3+2=2+2+3

2+5+2=2+3+5

5+3+4=1+10+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

3+1+11=9+3+3

14+1+1=6+9+1

3+4+9=13+1+2

1+3+6=2+5+3

2+2+4=3+2+3

TTF2=+=3=2=11F 7

9+2+2=4+5+4

TFEA+8=8=+3F3

8+4+3=12+2+1

2+2+3=1+1+5

5¥10+3=2=07F]

3+1+1=2+2+1

10+1+4=4+3+8

TT=F2==6=8+4F13

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

1+3+7=5+2+4

12+1+5=15+2+1

5+13+1=5+3+12

5+3+3=1+8+2

2+3+1=1+3+2

1+2+16=1+16+1

1+1+3=1+4+1

7+5+1=6+5+2

8+1+3=7+3+2

1+3+5=6+2+1

1+2+7=4+3+2

4+2+1=5+1+2

8+1+4=10+1+2

6+1+12=6+9+4

5+ /7/+8=11+1+7

5+2+8=4+5+6

12+7+1=1+3+15

1+5+10=1+7+7

6+6+1=9+1+2

3+2+8=8+5+1

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

1+3+7=5+2+4

12+1+5=15+2+1

S F13===5=+3F17

5+3+3=1+8+2

2+3+1=1+3+2

TE2=46=4+16FT

TFt=+=3=34=A4T 7

7+5+1=6+5+2

8+1+3=7+3+2

1+3+5=6+2+1

TF2=+=F=4=+3F7

ITF2+t=GtTT7

8+1+4=10+1+2

6+1+12=6+9+4

D ¥ 7==8=3F=+=1TF 7

5+2+8=4+5+6

7 F7=+=3F=34=+=3F 15

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

1+6+6=9+2+2

1+3+1=1+1+3

9+2+5=8+5+3

8+3+1=10+2+1

2+6+4=1+9+2

7+10+1=3+9+7

5+4+5=9+5+1

8+2+5=12+1+2

11+2+5=4+1+14

5+2+4=3+5+3

7+3+4=6+2+6

3+1+1=1+2+1

5+1+1=4+1+3

6+1+1=5+1+3

1+9+2=4+2+6

1+4+3=2+3+3

/+1+6=2+8+5

1+1+3=1+3+2

2+2+2=3+1+3

1+4+11=4+7+5

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

1+6+6=9+2+2

1+3+1=1+1+3

9+2+5=8+5+3

BE3+4=40+27FT

2+6+4=1+9+2

[ F10=+=3=3—=+OF /

S FA==5=9=+5F1

8+2+5=12+1+2

TTIF2=5=4=+3F 1]

5+2+4=3+5+3

7+3+4=6+2+6

1+9+2=4+2+6

1+4+3=2+3+3

1+4+11=4+7+5

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

4+6+3=3+6+3

8+2+1=3+1+7

2+2+2=3+3+1

3+2+1=4+2+1

2+2+14=11+4+3

7+5+1=6+6+1

3+7/+1=6+3+3

1+2+4=1+1+5

1+4+10=2+6+6

5+7+3=1+7+7

3+1+1=1+1+3

5+8+2=3+7+4

1+3+6=3+3+5

2+3+4=1+4+4

13+1+3=1+12+5

3+3+3=7+1+1

2+9+7=12+3+2

5+1+5=5+5+2

9+1+5=2+4+9

8+6+2=7+8+1

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

I FB6=+=3=3=6T3 3+1+1=1+1+3
8+2+1=3+1+7 D F8=+=2=3=+7F1
ZF2=+=2=3=+3F T T F3=6=3=+3T5H
ITF2+=F=4=+2F [ 2+3+4=1+4+4

2+2+14=11+4+3 T3 +t=+=3=34+12F 5

/+5+1=6+6+1 3+3+3=7+1+1
I FE7=+=3= ZFOoO=+=F=42=+=3F 7
1+2+4=1+1+5 S Fi=5=0LG==57T7
T +F4=+=36-= 9+1+5=2+4+9

S+ 7+3=1+7+7 8+6+2=7+8+1

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

2+1+2=1+4+1

1+3+2=3+1+2

8+3+2=5+5+4

1+1+9=3+7+1

10+6+3=10+5+5

6+8+5=9+7+2

1+1+16=4+10+4

13+1+2=4+6+6

3+1+2=1+3+1

4+1+9=9+3+3

6+1+1=4+1+3

1+3+3=3+1+4

11+4+3=1+6+11

2+1+2=2+3+1

9+2+5=3+1+13

6+4+4=5+5+5

1+2+16=2+10+38

2+4+2=6+1+1

5+5+1=2+3+6

3+1+1=2+1+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

ZEt==22=4=4F 1

1+3+2=3+1+2

BE3+2 =557

1+1+9=3+7+1

IT0F6=+=3=36=+5FhH

1+1+16=4+10+4

13+1+2=4+6+6

ITFEt=+=2=4F=+=3F 1

I ¥ 31==9=0=3F 3

6+1+1=4+1+3

TF3==3=3=+1F7

11+4+3=1+6+11

2+4+2=6+1+1

5+5+1=2+3+6

3+1+1=2+1+2

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

11+2+2=6+1+8

1+1+6=1+3+3

1+1+3=1+2+2

2+4+8=6+06+1

2+7+2=3+5+4

10+6+4=10+8+1

3+2+3=3+4+1

[+6+3=2+3+10

2+3+1=1+1+4

11+1+5=2+8+7

1+10+7=1+7+11

3+1+3=2+1+4

6+2+8=2+10+5

2+3+3=4+2+2

12+4+3=4+6+9

3+3+2=1+7+1

2+6+10=12+3+4

7+3+5=7+1+6

2+2+2=1+3+2

1+13+4=2+14+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

11+2+2=6+1+8

T+Fi==6=34=+=3F 3

1+1+3=1+2+2

S T T e T

3+2+3=3+4+1

[Fo=+=3=2=+3F 10

2+3+1=1+1+4

11+1+5=2+8+7

ITFI0=—F=3=7F 11

3+1+3=2+1+4

FE2==8=2+10F5

2+3+3=4+2+2

12+4+3=4+6+9

2+2+2=1+3+2

1+13+4=2+14+2

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

6+8+1=3+1+10

4+4+9=12+2+3

8+2+4=7+1+6

3+1+4=1+1+5

1+5+7=10+3+1

12+5+2=6+7+6

6+4+10=1+2+17

3+8+2=7+5+2

6+5+2=6+5+1

/[+4+9=8+10+1

5+2+2=1+1+7

2+5+1=4+2+2

3+4+5=2+9+2

1+2+10=5+4+4

7+5+5=7+7+3

4+1+3=4+1+4

4+10+6=7+4+8

3+3+5=7+3+1

1+1+15=9+1+7

3+12+1=4+2+9

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

O F8=+=3F=3=+=31F 10

4+4+9=12+2+3

8+2+4=7+1+6

TFE b=ttt Th

ITF5==—F=36=3F1

12+5+2=6+7+6

6+4+10=1+2+17

5+2+2=1+1+7

2+5+1=4+2+2

I FA=+=5=2=9T7

1+2+10=5+4+4

7+5+5=7+7+3

A Fi==3=4==1F1

3+3+5=7+3+1

1+1+15=9+1+7

SFIR2==3+=4=+=27F7

TheMathWorksheetSite.com



Name

Date

Cross out the equations that are incorrect.

3+2+2=3+1+4

2+6+4=4+4+4

9+1+4=5+7+2

3+2+15=5+1+14

2+1+4=3+2+3

3+4+10=2+1+13

5+2+1=5+1+1

A+6+3=4+7+1

2+1+5=4+3+1

2+4+8=1+5+09

4+1+2=2+2+4

5+5+10=1+2+16

3+3+1=1+3+3

4+1+2=3+1+3

1+6+7=8+3+4

4+2+1=3+2+2

1+8+4=5+5+2

2+16+2=1+6+13

4+9+1=3+3+8

1+7+6=8+1+5

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

TFE2+2=0=177

2+6+4=4+4+4

9+1+4=5+7+2

3+2+15=5+1+14

2+1+5=4+3+1

ZFA=+=8=3F=+3FJ

A ¥ i==2=2=2F71

S F5=30=<34=2F 16

3+3+1=1+3+3

4+1+2=3+1+3

ITF6==—F=8=+3F1

4+2+1=3+2+2

I F8=+=4=5=+5F7

2+16+2=1+6+13

4+9+1=3+3+8

1+7+6=8+1+5
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Name

Date

Cross out the equations that are incorrect.

2+1+5=4+2+2

1+3+7=3+3+5

1+5+3=1+7+2

6+2+10=1+2+15

1+5+2=4+3+2

1+7+2=1+8+1

1+8+1=8+1+2

S+5+/7=11+4+2

1+3+1=1+2+1

3+13+4=1+6+12

1+1+6=2+4+2

8+2+1=9+2+1

12+2+6=15+3+1

5+5+1=3+1+8

5+5+7=10+4+3

1+4+2=2+5+1

7+3+5=3+7+5

3+4+1=3+3+2

4+2+9=4+7+5

4+1+1=2+2+2

TheMathWorksheetSite.com



Answer Key

Cross out the equations that are incorrect.

2+1+5=4+2+2

1+3+7=3+3+5

6+2+10=1+2+15

TF5=+=2=4=+3F7

1+7+2=1+8+1

ITF8=+=3F=8=+1TF7

S+5+/7=11+4+2

1+1+6=2+4+2

5+5+7=10+4+3

TFA2=2=+5F1

7+3+5=3+7+5

3+4+1=3+3+2

4+1+1=2+2+2
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Name Date

Cross out the equations that are incorrect.

1+16+2=6+3+10 9+2+6=2+4+11

A+4+1=7+2+1 5+4+3=6+4+2

10+3+4=14+2+1 6+11+3=9+4+6

1+2+2=2+1+2 13+3+1=4+9+4

[+5+6=2+3+12 4+3+4=9+1+2

2+3+2=5+2+1 8+1+1=6+1+3
2+2+1=3+2+1 A+4+8=2+11+4
1+4+1=2+3+1 3+1+1=1+2+3
2+441=2+2+2 3+44+5=9+2+2

4+9+4=5+4+8 5+8+1=1+12+1
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Answer Key

Cross out the equations that are incorrect.

1+16+2=6+3+10 9+2+6=2+4+11

T FAed=Fe2 T 5+4+3=6+4+2
10+3+4=14+2+1 =0

14+2+2=2+1+4+2 13+3+1=4+9+4
7TE5+6=2+351)  ZFEI+A=0+t=7
TES=2=5aoTT 8+1+1=6+1+3
TE2 40T T A+8=pett=7
1+4+1=2+3+1 TE ittt
i = T B = I A=5=0=2F7

4+9+4=5+4+8 5+8+1=1+12+1
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Name Date

Cross out the equations that are incorrect.

12+4+4=1+10+9 5+/7/+7=5+3+11

2+4+4=6+3+1 1+5+14=12+1+7

1+8+2=9+1+2 (+2+1=4+1+5

1+11+5=9+5+3 2+11+4=7+9+1

8+5+4=8+6+3 1+2+2=2+1+1
1+4+2=2+1+4 2+9+7=2+1+16
2+1+3=1+3+3 1+7+3=2+2+8
1+2+3=1+2+4 4+14+2=3+4+12
1+1+3=1+3+1 4+5+6=11+1+2

[+1+6=3+4+8 12+5+2=7+6+7
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Answer Key

Cross out the equations that are incorrect.

12+4+4=1+10+9 5+/7/+7=5+3+11

2+4+4=6+3+1 1+5+14=12+1+7

TE8+2=0+1F7 7+2+1=4+1+5

1+11+5=9+5+3 2+11+4=7+9+1

8+5+4=8+6+3 TF2=+=2=2=+1F 71
1+4+2=2+1+14 ZFo=+=F=2+1F 106
ZF1=+=3=4==3F3 TF7=+=3=2=2F9g
TF2=+=3=34=27F41 I F tA=+=2=3+AF 7
1+1+3=1+3+1 I F5=+=6=34F=+1TT 7

[Fi==6=3=+4F7 12 F5=+2=F=+0F [
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